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1. Factor Xx°-5xX+ 6. ks el Jla
¢ (@ x°-5x+6
c (b)) (x-2)(x+3)
c () (x+3)(x-2)
c(d) (x+2)(x+3)
C () (x-2)(x-3)
o o (3a%b~3)~%
2. Simplify 5 sa vl S i W
© (a) 48a°b”
C (b)) 48ab*
© (c) 96a™"b”
() 96a°b*’
© (e) All of the other answers are incorrect.
3. SIMplify s bl i o2 —
x+1
1

~

@) x+1

1

~

(b) X+ 2
o () x+1
~ x+1

(d) X+ 2
~ x+1

(e) >
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The area of a right triangle with sides 3, 4, and 5 is
5¢4¢3 (o 4edual il 5 a5 ) Al Caliall dalie

@ 12
(b) 6

(c) 15
(d 10
e) 20

What is the slope of a line parallel to 5x - 7y + 2 = 0?
}A5)(-7y+Zzozdizd@dw\ﬁﬁﬁumﬂgj\ﬁgﬁ\ﬁﬁ@\dy

(@ -7
(b) 5
€ 75
d 2
€) 57

How many points are in the intersection of y = x* + 3x + 1

andy = 2x + 5?
ﬁy=2x+5cy:x2+3x+10&\&\%@&3&\2\3}3&

@ 3

(b) infinitely many Al Y axe

€ 2
d 0
e 1

Let f(x) = 3x + 2. For which x is f(x) = -2?
() = -2 5505 () = 3K+ 2 8001 e 1 x B

@ -4/3
(b) 4/3
) -32
d) -2/3
e) O

. ealad) Jlaad) d\glﬁ—eﬁi‘gﬂ—o‘gw‘gud—ﬁlﬂﬁ—&g&w\
Mathematics- Proper Thinking- Accuracy and Cooperation- Patience and Discipline- Science Beauty sensation

Flyige



If x =8, f|nd the Iargest value of y which satisfies y*x + yx* + 128 = 0.
dumyx+yx + 128 = 0 Ualaal) moad Ja y Jdad HiS) oo Ld x = 8 cuilS )

@ 4

(b) -4
(c) Thereis no largest value. 4«d Sl a8 Y
(d -8

(e) 8

Find the largest solution of x* + 4x® + 3x = 0. Ahalxall Ja <l 2a )
@ x=1

(b) x=-2
(c) x=-1
(d x=0
(e) x=-3
. Simplify (X/2x%)(y?ly). 332 Jaul 6 oa

(@  (xy)(xy)
(b) (x/2)"y

(© 2y

(d) (2)x*y
(6) (2" +y

. What is 10gs(3%) ? ¢ logs(3°) s Le
@ 5
(b) 1/5
(c) e
(d) 3e
(e) 1/3
log(x? - 2x +1) > log(25) reduces to
log(x? - 2x +1) > log(25) dulsiall Ja
(@ x>-4
(b) x<-4
(c) x>6
(d x<-4orx>6
(e) x<6
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13. If f(x) = -5x - 2, what is f(0)?

o (@ -5

o () O

o () -2

co@d -3

o (e) -1

14. If f(x) = 3x + 3and g(y) = 2y + 5, what is g(f(2))?

o @ 7

o () 9

© () 23

© (d) All of the other answers are incorrect.  4hla s AY) AllaY) awa

© (e) 30

15. If f(x) = 3x + 3 what is f(f(2))?

T (a) Notdefined. 4 e e

© (b) 81

o () 9

© () 30

© (e) Allof the other answers are incorrect.  4hl s AV SLlaY) awea

16, The inequality x> - 2x>-1 reduces to , o
X“-2x>-1  Aulildl da

o (@ x<1

© (b) xisnotequaltol [ sy X

o () x>1

T (d) x<-1

o () x>-1

17. Simplify =10 <=2 <10 5o bad b o

(@  Allof the other answers are incorrect.

C () -13<x<12

o () -12<x<12

© (d) -12<x<13

() -13<x<13
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Under which of the following conditions does x satisfy z—fi >0

P2 5 0 dubiall daa Giay 46N Ja g 580 (e da i gl

x—1
(@ xisnotequaltolandx+2>0

(b) x-1>0andx+2>0

(c) x+2>0

(d)  All of the other answers are incorrect.  43hala (5 JAY) Alla¥) avea

©) There are no values of x which satisfy this expression.
dapma il daaix Jdaf aa 5y

. 1f3x+4y=7and 5x-4y = 1, find x and y.

(@ x=-landy=1
(b) x=landy=1
(c) x=2andy=1
(d x=landy=-1
() x=2andy=2

. 1 5x-6y =4 and 3x + 4y = 10, then x/y is

(@ O
(b) Cannot be determined = Laasi (KoY
(c) 3
d 2
() 1

Ify + 3x + 2 =0andy = x% then there is a solution with x given by

y+3x+2=0andy=x* @i il Xxdad 2 L
@ x=-1
(b) Cannot be determined  Laxass (S Y
(c) x=0
d) x=2
e) x=1
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22

YYD

The radian measure of an angle of 45 degrees is

9 gl alall A 5345 455 11 daid
21T
a —_
() 2
b A
®) 3
VA
© 3
d =
A
(e) >
. Ifsin(a) = 1, cos(b) > 0, and sin(b) = 1/2, then sin(a + b) is
(@ 23
(b) 2/(3")
(c) 3Y2
(d) 172
(e) 3/2

Two lines each contain the point (0,0). One line has slope 3 and the other
line has slope 5. The tangent of the angle interior to the lines is
Crastinall G 45l 50 tan 8 5 4l JAV) 5 3 alie Laaaal (0.0) Adaiilly o)) ey (lasiins

(a)
(b)
(©)
(d)
(€)

A

L N 00 O

1/8
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Summary of Results ztill gails

Raw Score <lajally Ayl

Assessment axiil)

Easyd¢~ Mediumiwsia Hardeea Iniii;qute Adequate Jais Su;?e.[lor
Score Possible Score Possible Score Possible ngghted Threshold ngghted Threshold ngghted
FAg) alial) dagdl FAg? Aaliall dagdl) FOg) Zaliall dagdl) L,Jjjj rfm ) aal) :u,j;j r:ian ) aal) ijjg‘r&m
Algebraic
calculations 1 1 1 40 80
»
Analytic
geometryiail dugl 1 1 1 40 80
Equations and their
solutions<yalaall Ja 1 1 il 40 80
Exponentials and
logarithms el & gllf 1 1 1 40 80
) g
Functions and their
properties Ji sl 1 1 1 40 80
Walsdy
Inequalities and
absolute
values asdlly clilial 1 1 1 40 80
43l
Solving systems of
equations <¥aaall Ja 1 1 1 40 80
Trigonometry Jsall
1At 1 1 1 40 80
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